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B A / B. Sc. (Part-I) Exammatlon, 2019

Time : Two Hours ] _
Important Note : Please read instructions carefully prlnted on the back of OMR sheet
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Note Attempt all quest;ons Each

question carries equal marks.

The length 's' of the arc of the curve

x = f(t), y = ¢(t) between the two. -

pointst=aandt=b(b>a)is; .

.(A) j 1+(3‘;) dt..

o

) I

© fJ(""l (&) «

(D) None of these

o m

e mﬂmmﬁaﬁ%lnﬁamﬁa%

v (5) o A Rl £ = a

| ::‘-_-' (A) I: ’14.[%‘82.& | _
o ol

'\‘NF-T_%I

ﬁaﬁ'x f(t)?—l‘ény—tb(t)aitfai

et = b @ PR E, &,

WO duI[UONe I MMM/] dnq |

(©) IJ[ ) (f.‘t') dt 8
CRuAb
Cra.
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f'p The value of B[%,%J = ' 2. ﬂ(%,—;)aﬂ'ﬂﬂ =

=2 (A) Jro

= - " (A) Jx

= (B) = '

: = (B) =

= O3 © 3
(D) None of these (D) 378 & BIE T

3. Thevalueofm [1-n= 3. hi-n&rad =
(A) =/sin nn (f&) r/sin nn

(B) nn/sin (n-1) =

(C) Ja/sinnn

.(B) na/sin (n-1) =

(C) Jr/sinnn

(D) sin nn
-(D) sin nn '

4. The volume of the solid generated ' 4, Fax? + y2 = a2 @ y- AT & AN
by the circle x> + y? = a?, about g R S 3 BT 3mEe &
y-axis is; ' 2

2 5 (A) 51‘[8
(A) 3ma
. (B) —2—ﬂa3
2 3 3
(8) 32 |
. (C) 2 ra’
4 5 3
(C) zma _ .
(D) 5 A DS 7

(D) None of these

" rasind
5. The value of the integral 5. wAeH [g [ rdedr @1 A &,

[&fes™rdadr is; (A) %naz

(A) %na‘1 | (B) na?

) (©) 4ra

(C) 4na® (D) 3 | B &

(D) None of these - .
(2]
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I:} The value of the integral

IS

(]

Jo I [3(xyz)dx dy dz

- (A) 3/8

(B) 8/15
(C) 8/3
(D) 15/8

A curve f(x, y) = 0 is symmétrical

about the line y = x if;

(A) f(x,y) = f(y, x)

-(B) f(-x,y) = f(x, y)

(C) f(-x,-y) = f(x, y)
(D) None of these

If y = a sin mx + b cos mx, then

the value of y, + m?y =
(A) 0

(B) a+m?b

(C) a*m

(D) a’m+b

The no. of real asymptotes which
the parabola y?* = 4ax possesses

are;

+ (A) One

(B) Two
(C) Infinitely many
(D) None

279/T

6. wWHH [ Iffg(XYZ)d_xdydz & 7T

g,

(A) 3/8
(B) 8/15
(C) 8/3
(D) 15/8

mawr(x,yhoi@ry:g &
wafie 8, afe,

(A) f(x,y) = f(y, x)

(B) f(-x,y) =f(x,y)
(C) f(-x, -y) = f(x, y)
(D) 3 & 3 T

afdy = asinmx + b cos mx 2 ar
y, + m’y =
(A) 0

(B) a+m?b

(C) a?m
(D) a’m+b

WA y2=4ax & qrafac < Wit
@ e g,

(A) One

(B) Two

(C) Infinitely many

(D) P el

P.T.0

http://www.rmlauonline.com

wod duIuoneu mmm//:dny



wod auIjuoneju mmm//:dny

http://www.rmlauonline.com

) B(M+1, n) + B(m, n+1)=

fijess

& h‘

pim

-

;,’_i|'|H_

o

. (A) p(m+1, n+1)

;(B) p(2m+1, 2n+1)

(D) None of these

11. f(x)=log, x is continuous for all
those x, for which;
(A) x>0
(B x <0
(C) -1<x<0
(D) None of these
12. The (n+1)™ term in Maclaurin's
series for (5%) is;
xl"l. xn
ol Z 5)"
(A) - (log5) (B) - (log5)
x" n X n
(C) W(IOQS) (D) EUOQ 5)
13. The points of inflexion of the curve
y= é*z are given by;
(A) x=2%+2
(L
(B) *=*| /2
1
=+=
(C) x=t3
(D) None of these
279/T

[4

10. p(m+1, n) + p(m, n+1)=

11,

12.

13.

(A) p(m+1, n+1)
(B) p(2m+1, 2n+1)

(C) p(m, n)

(D) & & B e

f(x) = log, x eI &, 39 9 x & fow

(A) x>0

(B) x<0
(C) -1<x<0

(D) 51 § 3% 7

(5%) & fere Agpaiam o0 &7 (n+1) &
&,

(A) %(1095) (B) inrl(logS)"
(C) xHﬂ(lﬂgS)“ (D) %(IogS)"

B y=e° & T gl o) R s
2,

(A) x=+4y3

-+ L
o ol
(C) x=i% .
(D) & A B 5
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’i; The surface area of the solid gen-
a erated by revolution of the astroid
x = acos® 8, y = asin3 9, about
X-axis is,
(A) 3na?
(B) J'SE:r:;a2
(C) —g&az
(D) None of these
15. The value of !:Tl si:x =7
" (A) 1  http://www.rmlauonline.com
(B) 0
(C) =
() 2
16. If f(x):{“i"%r x#0
1, x=0
.tl'-len poiht x=0is :
(A) Point of Minima
(B) Removable Discontinuity
(C) Discontinuity of first Kind .
-, (D) Discontinuity of Second Kind
279/T

5

14. THEIUE x = a Cos® 0, y = a sin’ 0 @

15.

16.

X318 & e gAY A F 3 @ 7o
ae1 &, |

(A)
(8) Tma’
(9)
(0) 7 % o e

sinx
- 1A |

lim
X =0

(A) 1

(B) 0
(C)

(0) ¢

‘ .1
1, x=0

TR x=08-
(A) fres fag
(B) X B et Friaer
(C) W WR & el
(D) R R & Fraar

PT.0.
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18.

19.

20.

. (C)

-If y= x*%, then

http://www.rmlauonline.com

l*o 17. value of lim s!an is :
"!.‘“ X §j :

sin5x

(A)

3
5
5
(B) 3
0

(D) 1
If f(x+y) = f(x).f(y) and f(5)= 2,

f(0)= 3, then value of f (5)is:
(A) O

-(B) 6

() 3
(D) 5
dy

ax is equal to :

-(A) x*(1+logx)

(B) x*-1
(C) x*logx

(D) x*+xlogx

If u= f(x-y, y-z, z-x), then value
- (8u ou éu |

of (a—x*'é;Jfgz—] is

(ﬁ;) 0

(B) -1
(©) 1

(D) 2
O

17.

18.

19.

20.

sin3x 3.

lim aReIL

X-+= Sin 5x

(A)

(8)
(©)

9 wu nw

(D) 1

afE f(x+y) = f(x).f(y) and f(5)=
f(0)= 3, 7@ (5) FTAH & -
(A) O

(B) 6
(C) 3
(D) 5
uﬁ:_y=x*,aa9iarqﬂ%| i

o dx
(A) x*(1+logx)

: (B) xx-1

(C) x"logx- _

(D) x*+xlogx

afg u= f(x-y, y-z, z-x), &

http://www.rmlauonline.com
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palue of D" (e®*cos bx) is:
()]l

-l

- n
A) (a® + b?)2 e®* sin(bx +ntan™?

)

B) (a2 + b"*)2 e sm(bx +ntan™! %]

o

|

(C) (a%+ b2)2 x cos[bx +ntan™! :}

(D) (&° +b;’)2 e cos[bx+ntan" S] :

Ify = a cos(logx)+b sin(logx), then -

R .
2 d y+xdy

value of X? T X !

will be :
(A) O
(B) v

(C) -y

(D) 2ylogx

. Rolle's theorem is not applicable to

function f(x) = |x| in [-1, 1]
because - |
(A) f(x) is not continuous at

x=0

. (B) f(x) is not differentiable at

=0
(C) f(-1) =f(1)

(D) None of these

279/T

7]

21.

22.

23. el & WY, B f(x) =
! [_lrl] ﬁwﬁﬁm-

D" (e®*cos bx) & AF @ -

(A) (a%+ bz)2 ax sin(bx +ntan™ b)

_I:'l_ .
(B) (a2 + b?)2 e sin[bx +ntan™1 E]

N :
(C) (a® +b?)2e™ cos[bx + nlt.sur:'1 %)

n
(D) (a% + b?)2 e cos[bx +ntan! g.]

afe y = a cos(logx)+Db sin(logx), 7§

d"v dy -
2

x__
axz dx’

X

&1 7 & -

(A) O

(B) y

(C) -y

(D) 2ylogx .

Ix| SR

(A) x=d W f(x) Had & 2l

(B) x=0 ® f(i) ITHHIT a8l B

(C) f(-1) =f(1)

(D) W ¥ B

P.T.0.
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%7 Polar subtangent is equal to: 27. q,?hummﬁmam-
e Al dr 4 "
=i W w 5
T = do b .
o= —_ do
= ®) & _ (B) 4f
£ dr '
£ (C) ro ' dr
. T ©) o5
_» do
D) rg 240
dr (D) o
28- 1+x+x2+){3+.........m, IXI<1 28. 1+x+x2+x3+ ......... ©, 1x]<1
is expansion of. | a3 A oasr R & -
- (A) log(1+x) (A) log(1+x) |
(B) log(1-x) - (B) log(1-x)
- : .
© 13x | © X
1 |
1 = _
®) =% | (D) 1-x
29. Which among the following function 29. 1 el 3 st e & A
can not be expanded by Maclaurin's # yaika =& fosar s s -
series: . | (A) sinx
A) sinx .
) (B) cosx
(B) cosx |
(C) tanx
(C) tanx
(D) cotx : | (D) COtX.
{_30. The value of lim(cosec x)" is: 30. lim(cosec x)* 1 AH & -
(A) -1 (A) -1
(B) 0 : (B) 0
(C) e : : ©) e
(D) 1
‘ (D) 1
279/7 (1] . P.T.N
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31. If x =rcos 8, y =rsin 6, where r and 31 u’l'éx—rcﬁse y =rsin 0, 5781 r 3R 0

8 are functions of x, then dx is

dt X & T &, a‘f W&T?ﬂﬂ
equal to :
' dr de (A) rcose%-%—fsunef:j—i}-
COSO—-rsing—
.(A) rcoso - rsmﬂdt |
dr de
dr de (B) cos@—-rsin®——
cos -~ — dt dt
(B) cos at rsmﬂ(jt
' dr de
dr do (C) rcos 0S4 snn 0—
'9—'— 1
(C) rcos dt+smedt at at
dr de ‘ dr_ 95@
- (D) rcosﬁa-— smea , (D) rr:a:JsE}dt sin s
32. Value of . 32. |ir%(1+x)I & AT B -
l .
E_!:nu(1+x)" is (A 1
(A) 1 _
8) -1
(B) -1
- (C) e (C) e
1 | : 1
(D) < | O 3
6(u,v) 8(x,y) 33. a(u,v)  &(x,y)
33 Bk y) o(uv) (%, y) (4, V)
BETW%:
is equal to :
' . | (A) O
(A) 0 ) ’ i .
: - (8) -1
. (B) -1
1 © 3
€ 3
| 0) 1
(D) 1
[10]
279/T -
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34.

35.

36.
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The value of x for which the func-

. 1
tion fx)—xx 'has a maximum
value : |

. (A) x=e

(B) x=1

(C) x =log2

_1
(D) x=2

The point at which the tangent to

the curve y = x*-3x+1 is parallel
to x-axis is :

(A) (1, -1)

- (8) (0, 1)
(© (2 3)

(D) (-2, 1)

The Parametric formula for radius

of curvature is :

3
_ (er + YlZ )5
- X'Y"+Y'X"

(A)

| 3
~ (xlz + ylz )2

(B) p=fa— W

xIYII — y x

[11]

34. x @ WF Py e oo f(.x)=x’_1‘-

35,

Jfeass AT a2

(A) x=e
(B) x=1

(C) x = log2

1
(D) x=¢

TP y = x3-3x+1 & fb forg W wef
G1 x-3181 & FARR Enitl

* @, -1)

(8) (0, 1)
(€) (2 3)
(D) (-2, 1)

36. agpan fsar @ yraferd A & -

3
_(x2ey?)?

(A) p=t——n

X'y"+y'x

3
12 1242

(B) p=——'(>f ..W.)..'
Xy —-yX

C 3
_(x?-y?)?
xlyu_ Yixn‘

(C) e

3
_Yd )2 .

I el 0
xlyll - ylxll

(D) ¢

P.T.O.
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37. If x = 2sint - sin2t and 37, R x = 2sint - sin2t 3R

wod auIjuoneju mmm//:dny

Y = 2cost - cos2t, then, value of | &
2 - - ' Yy = 2cost - cos2t @l —&%’ GARRGIT
d°y T
——7 at t== is:
dx 2 | tzg _—
(A) 2
(A). 2
-3
(B) — 3
' * (B) 2 .
-3
'(C) T -3
2 © 5
_1 _1
®) = (D)

38. The asymptotes of the hyperbola

xy—3x—2y=0aregiven by :
(A) x-2=0,y+3=0
(B) x-3=0,y+2=0

(C) x-2=0,y-3=0

(C) rsin (8-2) = a

38.

sfeRaea xy - 3x - 2y = 0 & 3=
Wi & -

(A) x—2=o,y+3=d

(B) x-3=0,y+2=0

(C) x-2=0!y_3=0

- (D) None of these (D) W & B 7
T~
' ao
39. The asymptote of the curve 39. @B M=¢_7 & 3 Wey & -
_ae |
r=o-11s: (A) rsing=a
(A) rsind =a (B) asino=r
'(B) asiné=r

(C) rsin (6-2) = a

(D) rsin (6-1) = a

wod duIuoneu mmm//:dny

(D) r sin (6-1) = a
| [12]
279/T
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40. On the curve y%(1+x) = x2(1-x), 40. P y*(14x) = x¥(1-x) R 7e fag &
the origin is : (A) vw g
(B) Acusp (C) s 7 frg
(C) A point of inflexion
(D) A conjugate point (D) v g %ﬁ
sub-normal 41. %ﬂ—— mﬁ IAGE BN -
41 sub _ tangent 'S equal to : '
Lengthoft t (A) o o v
of tangen Jor-S—
(A) Lengthof normal i
‘ Hf¥era & omard
Length of normal ' (B)
(8 Length of tangent vl o g
' 2 wdlf S )
. Length of tangent ‘ (C) ( 5 '
- (©) [Length of normal ) ki
ﬁ 2
oy [-Length of normal ]2 (D) [ mﬁaﬁﬂﬁizé J
(D) Length of tangent -

42. The point of inflexion for the polar 42. '{Jﬁlﬂ b r/o=+a & forr = ﬁ.—c‘;'
curve r/p=4a is

1
{A) (“fgr—J 1
) 2 (A) [‘E’E)
B) (a, 2 |
®) -( ‘ (B) (a, 2)
1
© (&) | © (V23]
o 3 o (1)
| ' x/2 . ]
43. The value of the integral 43. §HBA [ sin® xdx EII[F-[%“ <
]:f-zsinexdx is: . - (A) % (B) f_; é:
3n 8 5n _ :.;%
- (A) 33 (B) 16 . | 3 }%:{
Sn 3n (®} 32 (D) 64
279/T ' ' [13] P.T.O0
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i*p The reduction formula for

| |i'

S TN

B H!r:-"

jsec“ xdx Is :

-_t:?;-

sec™? xtanx ,n-2
n-1

i )jsec xdx =

Isec“ 2 x dx

st

: sec™lyxta
(5) Secﬂdez—w—_l.n_x E;Isecnl dx

sed’ xtanx
VS U n——z-fsec"'zxdx

(C_) [sec" xdx=
(D) None of these
45. Value of [ix*/21-xdx
is equal to :
n

- (A) 2

(B)
(<€)
(D) g

46. [§ & tidt =........

(A) k8

[14]

44, [sec" xdx airﬁgﬂﬂﬁﬁﬁ'g‘

sec™? x tanx.

1]
(A) [sec” xdx = !

sec™! xtan x - 1

n-2
(B) Jsec” xdx === to2

— Jsec

2
sec” Xtanx 12 joecr?
n+1 n+

(C) Jsec®xdx=

(D) T R B

45, [Ax21-xdx BT AR -
3
A 32
(B)
(C)

©) 4

46.

oooooooo

Jo &t dt =

(A) k[n
"
(8) |

© 5

o

http://www.rmlauonline.com

N -2 ISec”'2
n 1

X dx

x dx

X dx
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E2O)
47 .4, ..;‘ord of curvature through pole for

48.

¥
O

50.

the curve r = ae™ |g -

(D‘) 20

Value of 2[;'?Jtan0do, is equal

to : _
® [3

(©) EE

(D) None of these

. If0<n<1,then[A[1-n

is equal to :

T
(A) sinnmx

n

® 5

sinnmx
n

(®)
(D) sinnn

The tangents at the origin to the
curve y? = x?(a-x) are :

(A) x=0,y=1

(B) x=1,y=0

(C) y= £x

(D) Norie of these

279/7

47. @p r = ae™ & 7 fag ¥ IR e

48,

49,

50.

agen shar & -
(A) mo
(B) 2r

(C) 2mr
(D) 20

2[3?Jtan0 do @1 A & -

(D) ¥ & oI T
ato<n<1ag[n [i-n

TIDE ¢ -

(A) sinnm

(B)

(C)
(D) sinn n

ap y? = x¥(a-x) & foe @ iy w
¥t & -

(A) x=0,y=1

(B) x=1,y=0

(C) y= *x

(D) ¥ ¥ B el

P.T.0,
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)

-iqf- Areaenclosed between the parabo- 51, qawi} y2 = 4ax a9l X° = 4y &
. 2 = 2 . ‘
Iasy‘ 4§xandx = day s : 7 B 3.
E 8 :
: —ab
® 3 (A) 8ab
' 3
16 .
- (B) —=-ab
) 3 . ) (B) %s-ab
32 ' '
(C) —ab 2
‘ 3 (C) 3?ab
o |
(D) -<ab : : 1 _
12 ~ab
(D) 122
52. Area of one loop of the curve . 52. T 3ay? = x(x-a)2 & U U BT &
3ay? = x(x-a)? is : : 3. ’
8 . 8
(R '3 (A) 3
25 o 25
64 64
(©) 3 _ _ ' (€) 3
(D) None of these (D) F A BiE T8
: - . y
53. The intrinsic equation of the cat- 53. I V‘CCOShE &1 g~
THHROT & - -

X .
enary Y=CCOShE Is : )
(A) s =seco

(A)_ S=seee (B) 2s=age¢

(B) 2s =3¢ :
(C) S=CseCyoy
(C) g =CSeC oy

(D) s=ctang
(D) 5=ctal’llP

. [16]
279/7
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5_&29&3 volume of solid generated by
: revolwng about the x- -axis an area

kT

f:!fu'.*‘t-

ST

~
.
()

TR R
ALK

uounded by the curve y = f(x) and
= a, x = b is given by :

. jay

1.6
_Ej’ayzdx

3
—

(©) 3wy dx

(b) nf2y? dx

55. Value of integral [ ,|x|dx is :

(A) 2
(B), 3
(©) o

,(_D) 1

56. Value of triple integral

{ofa fa dxdydz is :

(A) 1

" (B) 0

(C) 2.

(D) 3

57. After changing the order of integra-

tion [, f5 f(x, y)dx dy = ........ :

C(A) [ f(x,y)dy dx

(B) 3% [¥ f(x,y)dydx
(C) [ofq f(x,y)dydx
(D) o [q f(x,y)dydx

| 54, ﬁﬂ?fé!ia?la’taﬁiy=f(x),x=a3ﬂ?

55.

56.

57.

x = b ¥ 3EZ &, B x - 3w P WRa:
YA | U 316 &1 ga= 2 -
(A) [Py?dx |

(B) Ilyiex

(C) 3nloy ax

(D) =[°y?dx

waea [L|x|dx &1 AE & -

(A) 2

() 3 -
(C) 0
o)1

Br-gwmeet [g [ |2 dxdydz, @1 aM &

(A) 1
(B8) 0
(Cj 2
(D) 3
mﬁaﬂiﬁqaﬂaﬂrm
[2 12 fx,y)dxdy = ...
(A) [o fg fOxy)dydx

B) 3% Fx, y)dy dx
© 51

(D) [fg'* fg fix,y)dy dx ’

f(x, y)dy dx

279/T
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et
M -

Ee

Val i i
alue of integral 58. a3 A f;” J-Dsmnrdgdr =....

x/2 (sing
0 0 rdBdr: .....

(A) /2 _. 0de
(A) [*sinade bsin

iy

(B) ["5rdr |

R P A LTt X

(8) [o5rer

B

w2l
| ) [ 5 5in?6.do
(C) I“’zlslnzede

(D) None of these (D) 1 & @15 7l
59. ) .
9 Va:u? O'lf the integral 59. T AP 1'03 I: I;(X+Y+Z)dXdez, &I
lo fo ]U(K+Y+z)dxdydz is : mad-
(A) 4 (A) 4
(B) 10 (8) 10
. (C) 16 (C) 16
(D) 18 (D) 18
_ o (x¥-a3 : ' . [xP -2’
60. “xnllt[:z_;] - 60. “xrﬂit[xz-a?] =
(A) 3a (A) 3a
-2 -2
(B —S-2 B) 3-a
3 3
© 3a € 3a
(D) Does not exist (D) mﬁ:@
61. Ify=x*(x>0)theng—§= 61-‘“%\’:*"(00)3‘«'%—5:

(A) x"(1+logex)
(8) (1+log, x)
(C) x*(log, x)

(D) ¥ ¥ B T

.(A) x*(1+log, x)

(B) (1+log,x)

(C) x*(log, X)

(D) None of these
279/T -8l
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P
¢2/A function f(x) is said to be con-

xinuous at x = a, if ;

11

v BF

FETIIN

A) !: m f(x) exis‘ts

oF | 'jl
Hp*\'u

-{B) f(a)exists

By

- (€) limf(x)=Ff(a)
(D) None of these
63. D" (x") =:
(A} 0
(B) n
+(C) n!
(D) 1

64. If f(x) = |x - a| then % at

X = a;
. (A) Does not exist
(8) 1
(C) -1
(D) O . _
65. The point 'c' of Cauchy's Mean-
value theorem in the interval [a, b]

for the two functions f(x) = e* and
#(x) = g is,
(A) F(a+b)

(B) (a+b)

(©) %mam

(D) O
279/T

62.

63.

64.

65.

[19]

B f(x), [6g x = a W waq sgeman
g, iR,

(A) Nim f(x) siferes & @

(B) f(a) Ao # @

(€) limf(x)=F(a)

(D) ¥ 3 318 T

D" (x") = :

(A) O
(B) n
(C) n!

(D) 1

uﬁf(x)=|x'-arah3—iafrm=r

X =aW|,

(A) 3 ¥ =8 &

(8) 1

(C) -1

(D) 0

A GeFl f(x) = eX TA ¢(x) = g*x &

foe, =R [a, b] ®, B & Fez=E

g & fag ¢ &,

A) %(a +b)

(B) (a+b)

(€)' 3(a-b)

(D) 0
P.T.0O.
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?;EJG For a positive integer n, 66. v g=TcHE® oI N a5 fee,
oo D(sin(ax+b)) = . o
Z D"(sin(ax+b)) =
F = . nn
B X A sm[ax+b+——«J . nn
e (A) p) (A) sin ax+b+ >
= n o nr nn
- (B) @ 5|n[ax+b+—2—J | (B) a“sin(ax+b+-5f]
nr nn
(C) cos[ax+b+-} b __J
2 (C) cosjax+b+=
' n nm) . |
(D) @ cos[ax+b+?) (D) a"cos[ax+b+%]
67. Taylor series for log, (x +h) is, 67. log, (x +h) & fow Ser A0k 7,
A) log hs X X2, X _ N | x_x2 X
(A) log T o g e (A) og,h+h TR R SR
x x2 x* X x2 x3
X XX | X XX
(B)' logeh h+2h; 3h3+ ........... 00 (B) ogeh h+2h2 3h3+ ........... =}
X, X2, X loge h+ X4 X2, X
(C) IOQ“h+F+F+W ........... | (C) 0Q, +h+2h2 +3h3+ ........... oo
(D) None of these ‘ (D) ¥ ¥ IS &
68. If x = rcos 6, y = rsin 6 then the 68. TR x = rcos 6, y = rsin p & ar
(X, Y) Ax,y)
value of e - o(r, 6) =
(A) sin® (A) sine
(B) cos @ _ ' (B) cos e
(C) r* (C) r?
-(D)y r - _ (D) r
[20)
279/T
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Ifu= xyf(y/x), then the value of
au au

X—+y<= _
xVay =

(A) wu

-(B) 2u

(C) o
(D) None of these

Ifu = x*y-2) + y¥(z-x) + 2%(x-

du du ou
then 4y
Y) the value of P~ ay+az =
(A) 1
(B) xyz

(C) (x+y+2)

(D) O

1
(D) None of these

72. The angle of intersection of the
curves r = a(l+cosé) and
r = b(1-cos0) is;
“(A) n/2
(B) n/3
(C) n/4
- (D) None of these

279/T

69.

70.

71.

72.

afk u = xyf(y/x) b,

au o
X =4y — -
o Yo, BEA =

ay
(A) u
(B) 2u

(C) O
(D) s A B

e u = x3(y-2) + y*(z-x) + z2(x~

L (A) 1

(B) xyz
(C) (x+y+2z)

(D) O

1
ﬁm[a‘+b"}; _

X =0 2

(A) Jab
(B) ya/b

(€)1
(D) & A ¥ Tl

a@i r = a(1+cos8) 3R r = b(1-cos)
&1 wfredet @ &,

(A) n/2

(B) =n/3

(C) n/4

(D) &= Q o e
P.T.O.
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74.

~J
wn

76.

http://www.rmlauonline.com

For the cardioid r = a(1-cos0), the
angle ¢ is given by :

(A) o

(B) 26

(C) o/2

(D) None of these

For maxima & minima of a func-‘
tion of two variables f(x, y), at a
critical point P gives the value of
(rt = s2) < 0, then this point is a
‘ point of,

(A) Maxima

(B) Minima

(C) Saddle point

(D) None of these

. Radius of curvature (P) of the curve

xy = 4 at the point (2, 2) is :
(A) 22
(B) 2

(C) 2

(D) None of these

V;'hich of the followings represent
a pedal equation of a curve;

(A) f(x,y)=0

(B) f(r,6)=0

©) fs,v)=0

(D) f(p, ") =0

¥79/T

73. g4 r = a(1-coso) ¥ fore @ ¢

74,

fm amam &,

(A) 0

(8) 20

(C) 0/2

(D) z A B T

A W ¥ e f(x, y) $ Id9 T
Prerem & R, 33 fosxht Rpfe et g,
W (rt - s2)< 0 & 37 fag @ F&d

.

(A) st & fag
(B) =gAaH & fag

- (C) e @ fag

75.

76.

(D) ¥ § 1§ T&

W xy = 4 & g (2, 2) | g
= @ntt,

(A) 242

(B) V2

(C) 2

(D) & A B T
ﬁﬁﬁﬁ&hﬂlﬂmmﬁm@
sefdfa avan &,

(A) f(x,y)=0

(8) f(ro)=0

(C) f(s,y)=0

(D) fp,r) =0

http://www.rmlauonline.com
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ipThe values of x for which

=il

S
M

frafht,

78.

79. Point of inflexion at a curve is a
point at which;
A &Y _0 but .o
( ) dxz dx3
&y dy
=7 _0 but —5=0
(B) dx> dx?
(C _cf}iso and .(1.3_? :0
) de dx3
(D) None of these
279/T

4

'Is concave upward are :

Wt

(A) 1sx<2

B) 1<x<?2
(C) 1=<x<2

(D) None of these

An ésymptote of the curve
x3+y3 = 3axy is;

+(A) x+y+a=0

(B) x+y-a=0

(C) x-y+a=0

(D) y-x+a=0

LY =X -6x3 4 12x2 4 5¢ 4 7

77.

78.

79.

x & 3 9 oy o,
Y=X"—6x3+12x2‘+ SX + 7
Fehexan 3 @, &

(A) 1<x<2

(B) 1<x<2

(C) 1<x<2

(D) 3% A B T

TP x3+y3 = 3axy P B FAT WA
S

(A) x+y+a=0

(B) x+y-a=0

(C) x-y+a=0

(D) y-x+a=0

e ap Rag fog, WA fag, 2 o

R &,

d?y dy

Y _ogqr =L
A 42 ™0 T g ™

d’y d’y

=Y _0 hedit
(B) 43 W ;20

d?y d3y

Y oy Y0
CRRE R
(D) 5 ¥ B el

P.T.O.

http://www.rmlauonline.com

wod duIuoneu mmm//:dny



http://www.rmlauonline.com

§

.f_‘a{r{_--

8. A symptote lIto y-

axis, to the curve 80. y-3ier & FAAIY, TH

(x2+;2)x - ayz =0is: (x2+y2)x_— ay2=0 F4d Wﬂﬁ g.

i=p

SRy

pih

- (A) (x-a)=0

(A) (x-a)=0

1

£ (B) (x+a)=0 (B) (x +a)=0

(©) ¥ +a?=0 (C) X2 +a?=0

(D) 7 % B relf

8L.T% y=(x-2)2(x-3) &I RF

(D) None of these

81. The point of inflexion of the curve

Y = (x=2)?(x~3)%is at the point;

g,

wod auIjuoneju mmm//:dny

(A) x=3 (A) x=3
(B) x=5 (B) x=5
"(C) x=2 .(C)X=2
(D) None of these (D) T W B =

82. The intrinsic formula for the radius 82. awar Bz (p) &1 ﬁ%w

of curvatﬁre (p)is; o ey
dy . gy
(A) P=gx - (A) p=2E
ds | B p:gfi-.
- (B) FFE (B) ~dy
_1lds
1ds , (C) p_ga'; .
p=-o= . _
(©) sdq:. a
(D) P=54s

(D) p=5d5

[24)
279/T
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81 JTh - '
I € nature of the origin on the 83. TP x+y3 = 3axy W Rer g fieg o
. . curve x34y3 = . o '
oy Y = 3axy is 3 v & 5 aw us,
= = (A
= 3( ) Cusp (A) Fvam
= (B) Conjugate point (B) wgnil fag |
£ .(C) Node (C)
- (D) None of these - (D) 0 A B T
84. Curve y%(2a - x) = x3 is symmetri- 84. T® y*(2a - x) = x> AN 2,
cal ab |
al about, (A) x- & & -
(A) x-axis
(B) y-IH &
g - (B) y-axis :
S S
= (C) theline y = x .(C)imy_xas
= | :
é (D) None of these - : (D) T & B I
= 85. For the curve y(y - 6) =x(x-2)3-9, 85. a® y(y - 6) = x3(x - 2)? -9 fem
g the point (2, 3) is a; . R 38w,
S |
= (A) Cusp - (A) ¥
¢ ' :
o . (B) Node (8) e
3 (C) Conjugate point (C) wgwt iy
(D) None of these ' ' | | (D) ¥ & P T
86. Envelope of the straight line 86. e XWX cosa+ysina=p ¥
| - , BN A 2, |
xcosa+ysina=p IS
' (A) &5 Qg
.(A) Anellipse
| (B) & WRaed
B) A parabola
(B) (C) P JfaRaed
(C) A hyperbola -
(D) & g
(D) Acircle P.T.0
279/T 231
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n
87. If ¢(n) = jg"“tanxdx then the

88.

89.

WO
o

http://www.rmlauonline.com

value of ¢§(n) + ¢(n - 2)=

(A) n
(B) (n-1)
1
- (€) (n-1)
(D) (n-1)2

The value of the integral

The whole length of the curve
r=acosé@is

(A) na

(B) na?

(C) na/2

(D) None of these

. Volume of the solid g'enerated by

xz y2
revolving the ellipse ;2-+E;_-=1,

about x-axis is;

(A) Frab

(B) —;-na’-b
(C) gnabz

4 .
(D) §"azbz

279/T

[26]

87. af g(n) = [/*tanxdx &M

88.

89.

90.

o(n) + ¢(n - 2) &1 7 B,
(A) n

(B) (n-1)
1

(©) n-1)

(D) (n - 1)?

B [78* dx BT A 8
(A) /2

(B)

(C) n/V2

(D) Vx/2

aPb r = a cos 6 DI T AETS &,
(A) na '
(B) na?

(C) na/2 _

(D) 59 & BIg F&

2 2

Qg :—2+;2=1 B x-3 B T

T ¥ 3 3 1 s g
(A) Fnab

(B) %nazb

(C) —;—Tcab? 5 '_;
(D) %naz'bz ’%%

http://www.rmlauonline.com
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g91. The value of@ =

92.

o
W

94.

.(A)
(B)
(©)
(D)
Asymptotes || to y-axis for the
aZ b2

curve ")'(_z_;'z_"_l are :

(A) x = *a

(B) x = b

(C) x=0

-2Jn
+24rx
-Jn

None of these

(D) None of these

. A function f(x) is said to be con-

tinuous at a point x = a if for each
e > 0} as > 0 such that,
(A) If(x)-f(a)l <e=Ix-2a] <3

(B) Jf(x)-f(a)l <e= |x - al > 8

(C) |(x-3a)| <o= If(x) - f(a)| > €

(D) |[x-al <&= If(x) - f(a)| < €
The curve of n" degree is cut by

its n asymptotes in how many

points;

(A) n points

(B) (n-1) points
(C) (n-2) points
(D) (n=3) points

279/T

[27]

-1
91. r_-z— o HH B,

92.

93.

94,

(A) -2Vn
(B) 4+2Vn
(C) -Jn

(D) & A B T
aZ bZ :
ab -x—z-;z=1 ¥, e, e y-

3187 % THFTR &, B,

(A) x = +a
(B) x = %b
(C) x=0
(D) & & B T

%Wf(x)ﬁiﬁﬂ-‘gx=a-mw

amaRkTAs >0 e Es 8 > 0

s ¥ 1, 59 € ¥ 5,

(A) |f(x)-f(@)l <e=|x-2al <3

(B) |f(x)-f(a)l <e=I|x-al >3
(©) lx-a)l <8=1f(x) - f(a)| >
(D) Ix-al <= |f(x) - f(a)l < e
nth B0 & 9 F n 3 R, R
a% B e fogali R #rer Jimm €,

(A) n el W
(B) (n-1) forgali w

(C) (n-2) fargait ®
(D) (n-3) fargel T

MUXET

ECPAINESE
o

(e Bl e
. i o '
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75".65' The two parabolas _ 95. @ Waeg y? = 4ax adl x? = day
y? = dax and x? = 4ay intersect U R Py, e A ¥ foa fog W
= i each other at the points; ufaenfa s &,

z (A) (0, 0) and (4a, -2a) (A) (0, 0) vaH (4a, —2a)

(8) (0, 0) and (2a, 2a) (B) (0, 0) vaq (2a, 2a)

* (C) (0, 0) and (4a, 4a) (C) (0, 0) TaH (4a, 4a)

(D) None of these

(D) 30 ¥ 1% 7
96. The perimeter of the cardioid 96. gAY r = a(1+coso) B IR (TRF)
r=a(l+cosd)is, - . gt 2,
(A) 4a (A) 4a
(B) 8a (B) 8a
(C) 16a (C) 16a
(D) None of these (D) T ¥ o1F T8
97. The value of the integral 97. TMI %o H & ©Y H, GUIHET
n-1 n-1
1 1 1
j{Log[;H dy jO[Log (%H dy
in terms of Gamma function is equal ® 749 W 8T 2|
to;
(A) |n -1
(A) [n -1
B)[n+1
B)|n+1
n
n O35
° 2
©) |5
(o) n (B) [
279/T 281
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- he function f(x) = (x = 1) (x - 4)

99.

100.

n[1,4]is,

3+Jr%
2

2-413
2

)

(8)

(C) o

(D)
The

None of these
maximum or minimum values
of the fur;ction u=xy2(1-x-Y)

occurs at the point;

@ (53]
(B) (L, 1)
© (53)
(D) (3, 2)

the value of the integral

jg"zsin"xdx |

n-1)(n-3 ﬁ—5 2
o (23
o (N
(C) O

(D) None of these

279/T

http://www.rmlauonline.com

If n is an odd positive integer, then

[29]

98. ot g & fag ¢! B f(x) = (x - 1)

(x - 4) & & 3= [1, 4] &, &,

(A)

(B)

(C) O

(D) A BE T

99.

o7 Frea W T B e,

® [(343)
® (1D
© [53)
(©) (3, 2)

100.9f% n vH few oeEe IS & @

B u = x3y? (1 - x - y) @I I=TH

WO UI[UONBTUL MMM //:d)y

TS jgizsin”xdx 1 7 &1,

(A) [n_l)[::gl[::ij """" 5

n-1

8 |’

(C) O

(e (E3)-24

(D) T ¥ B 7@
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